' Professiondl PROFESSIONAL EXAMINATION BOARD
Bb@mminqtion Middle School Teacher Eligibility Test - 2018
board 25th Feb 2019 02:30PM

Topic:- Child Development & Pedagogy (CDP)

1) A person’s IQ is initially represented by ratio of a person’s age divided by his/her
age. / Tt safaa &1 gfs @fsy &1 3= A STt g ¥ faunfora g9 afaa
P 3P AU A =T e 2

1. Real Intentional, Stereotyping / aIEITddh &0¢, TEIRATCIS

2. Chronological, Neurological/ wldlgwmw, EArfa®
3. Chronological, Mental/ &hTellcsh{deh, AT [&Heh
4. Mental, Chronological/ Eﬂﬁiﬁ, EHTvI'ITjEF@?—F

Correct Answer :-

» Mental, Chronological/ Z':I'I?-Iﬁ?ﬁ, Eﬁlc_vllajﬁmiﬁ

2) Which genetic problem is associated with heart defects? / TG4 AR & 1y F
TS T 7?2

1. Turner’s syndrome / TR THZIH

2. Down’s syndrome / 313 T8I

3. Autism / 3iTfesH
4, ADHD / TSITTs)

Correct Answer :-

+ Down’s syndrome / 3131 &gl

3) Which of the following age ranges is considered early childhood? / Fafafaa 7 3 e 3Ty Lie |
B! YRS TTUT AT ST 32

1.7t011/7 & 11
2.Birthto 2/ 5o & 2

3.3t012 7/ 39 12



421t 6/2 8 6

Correct Answer :-

«2t06/2 8 6

4) The pain of a shoe bite from a new pair of shoes currently being worn is an example of / qauT= o

T8 ST 3R ofd B U 7% SISl & S[d & BIe Bl 46 BT U Iae0l &
1. Long-term memory / &Te-&rel THfd

2. Episodic memory / UTrafeR EFfd

3. Inmediate memory / dcdhlel T

4. Sensory memory / TAGaT THTA

Correct Answer :-

« Immediate memory / dcehlel H{%

5) Ecological System theory, originally formulated by Urie bronfenbrenner, specifies four types of

nested environmental systems that are also called ./ qTR'@IﬁI?F Wﬂ?ﬁ ﬁl@'i_d,
o Ia ¥U § S SR gRT dUR {51 11 8, IR PR & e daiaRur yonfeml ot
faféy wxar @ v WY we1 IraT 21

1. Influential conceptualization/ THTGRATS TTURCTI

2. Human development/ #ATTd faera
3. Human ecology/ AT UTiRTEATIH]
4. Intellectual development/ Eﬁ‘ﬁ?ﬁ Trepra

Correct Answer :-

« Human ecology/ #ATa qiR EUfad

6) Re-directing energy or aggressive goals toward new aims, often artistic, intellectual or

cultural goals is called ./ 9T FeFt B J FAT AT 39 IHEAS d&A B QT AERAT Fw,
N FFE FACHS, g a1 AFFlaF a8 e Fgardr gl

1. *Sublimation / 3GRITRTOT
2. Compensation / ufaeoT

3. Affiliation / HaH



4, Rationalization / WUT

Correct Answer :-

« 'Sublimation / 3&TITehIOT

7) Which of the following agencies is responsible for preparing curriculum framework for
school education in India? / fwafaf@a & @ i @ o, sRa F Tt Raw F v gITFA
TRET TR & & [T Ieagrh 2

1. NCERT
2. NEUPA
3. NCTE

4. RCI

Correct Answer :-

o NCERT

8) Law of Readiness highlights the need of before learning. / Tcd{dT &l
e, e A Q@ Y 3raeashar W eI STere

1. Experience / 3JHT

2. Reinforcement / gc_-ITﬁTvlc_-[

3. Practice / 313-I1H
4, Maturation / GRUaFadT

Correct Answer :-

. Maturation / URUeFadr

9) What is the ‘magic number’ according to Miller’s theory on chunking? / ¥f%r W e & Rgura
¥ ITUR AfTF Fd9C F4T §?

1.2 (+/-3)
2.9 (+/-1)
3.5 (+-2)

4.7 (+1-2)



Correct Answer :-

10) What type of Gardner’s multiple intelligences is used during a dance performance? / Fc& geold &
g, MR & Fe YR & g qefaaar o1 39T f6har sar §?

1. Naturalistic intelligence / UTpfde gig
2. Intrapersonal intelligence / 3dRTdafheh g@'
3. Linguistic intelligence / HTSTITT g

4. Bodily-kinesthetic intelligence / MARF-TfITIET i

Correct Answer :-

« Bodily-kinesthetic intelligence / ARIReB-ITAHIET g

11) What do individuals scoring highly on neuroticism experience? / HT?ﬂ'!T (ﬂ@mﬂ') AJHa H,
=afda F waifts Fa1 33 gem 32

1. Uncontrollable happiness/ AfAIR¥T Teetdr

2. Mixed emotions/ f&f&T sma

3. High stress and anxiety/ 3Td ddrd 3R gaRIec

4. Positivity/ HBRIcHBAT

Correct Answer :-

» High stress and anxiety/ 3Td ddld 3R geRTac

12) As a teacher, what is the best way to help students in a problematic situation? / Teh freted & w0
H, g Ufa & onl i #Ace F@ FT TG0 ST dOFT F4T 87

1. By reward / SITH ¢l
2. By punishment /3 ¢
3. By providing solution / TATUT UGl Hich

4. By giving similar type of problem to solve /gd A B fore 3t yoR & gHEn TR

Correct Answer :-

« By giving similar type of problem to solve / 8 ®RA & iU T UHR P! THAT b



13) Children start experiencing peer group influence by around the age of: / §T8 dHhidel S g
¥ HEFHHAT HAG THTT FT IHT FAT Y& FT adf o

1. Five years / T ay
2. Four years / I ay
3. Three years / dlel ay

4. Six years / S: ay

Correct Answer :-

« Three years / el a&

14) Which of the following is not a characteristic of working memory? / frafaf@a & @ s @t
aoe T (afer AAN) A fdwar 78t 32

1. It involves rehearsal / 399 Rgdd T g

2. It is permanent / I8 TTT g1

3. Itis active / Ig HfehT %I

4. It involves manipulation / 3 S5-dis AHS &

Correct Answer :-

« Itis permanent / I8 TR gl

15) Which of the following best describes ‘learning’? / AT T@dT & & Hler-ar '3 &1 Fa&
3BT quisT FIT 872

1. The process of acquiring knowledge and skills through listening to the teacher. / 18T &l gdﬁ & ATETHA
¥ A 3R pirel Urd A DT Uik

2. The process of gaining facts and information through rote memorization. / 3l TEHROT & AT & It

3R STEERY utE R i gfeRa|

3. The process of gathering information by reading and writing. / Tg=¥ 3iR for@a & T SAAdRI ghcol
A Hr s

4. The process of acquiring knowledge, skills and dispositions through our thoughts, experiences, study, senses

and sharing./ 379el TR, 31ga7ell, 3103, 3Tl 3R ATSIAIOT & ATCTH F <A1, Hierel 3R
fAuer arg @ &1 gfhar

Correct Answer :-

o The process of acquiring knowledge, skills and dispositions through our thoughts, experiences, study, senses

and sharing./ 379el TR, 31ga7ell, 3103, 3Tl 3R ATSTAIOT & ATCTH F <A1, Hierel 3R




16) Which of the following stages of psychosocial development do not occur in childhood? / AAYAIAH
e & Prafaf@d g & ¥ w9 a1 avwor saua & @@ @ar

1. Autonomy vs. shame / TIIAAT TATH A

2. Trust vs. mistrust / faam@ a9 3rfaamg

3. Intimacy vs. isolation / 3ARITAT TATH HcToTd

4, Initiative vs. guilt / UgeT IATH JUTY a1

Correct Answer :-

o Intimacy vs. isolation / JRITdT IATH 3TcldTd

17) Which of the following embodies the idea that individuals learn through experience? / @

A ¥ Pl a1 AR A &7 AGT § I« IpHT F AeIH ¥ FfFT daar @2
1. Universality / TdJeaTaehdT

2. Nature / el

3. Nurture / OIgOT

4, Determinism / @afdare

Correct Answer :-

 Nurture / UIYOT

18) Physical development in the child slows down by the age range of: / §=a & HIR® A A=
3mg W # ot g S

1. 6-9 years / 6-9 a§
2.3-4years / 3-4 a§
3.5-6 years / 5-6 aW

4, 4-5 years / 4-59§

Correct Answer :-

o 5-6years / 5-6 a9

19) Language of word is not necessary for: / 2sal $I ST 3UF AT Jaey" AL &



1. Conceptual thinking / d=TRe ide
2. Perceptual thinking / JTURUTcHD IEGG
3. Imaginative thinking / &edarefie fide

4. Associative thinking / dTgad ide

Correct Answer :-
o Imaginative thinking / &euarefiel [&da

20) While Piaget gave importance to biological factors governing development, Vygotsky ascribed

importance to /ﬁmﬁ#ﬁmaﬁﬁﬂrﬁammﬁﬁmmaﬁﬂﬁﬁw,
STafd ABMEH o HF Aged HT HFRIT TAMT:

1. Thinking process / f&ider uferar
2. Social interaction / TTAITSISH TUH
3. Physical factors / #Hifdd ®R®

4, Environmental factors / UATaRONT HRb

Correct Answer :-

« Social interaction / HTATIGIP TUH

21) Students from underprivileged background are facing learning difficulty. Most likely factor that is

affectlngthemls-/aﬁ?l'Wﬂﬁ'ﬂ?mﬁmﬁmiﬁmm‘TE':'ET%I
T W FRE S 3 G HT @1 ¥ g ¥ -

1. Individual needs/ SfFdTTd TATRIHATY

2. Lack of sleep/ #iiG; &l &l

3. Stress/ dIld

4. Cognitive capabilities/ HATATcHD &THAT
Correct Answer :-

« Individual needs/ TfFdiTd 3MaRTHATT

22) MBTI’s approach for a personality assessment is ./ saf@dea a\wrm & foav vAddms &1
TiSemior gl

1. Perception/ 910

2. Projective/ J&THIT



3. Structured/ IIRIT
4. Judging/ 37Tl

Correct Answer :-

e Structured/ TG

23) The theory of Constructivism was propounded by . | #ToTaTE F1 g F anI
yfamfee fFar = an

1. Erikson / TR&H

2. Bandura / ETF;{T

3. Vygotsky / aTdalicEdhr
4. Kohlberg / CIEECE

Correct Answer :-

« Vygotsky / dTSINcEH]

24) When new ideas are incorporated into existing ideas they are known as ./ 9 ¢ faart #r

Fiorar et # enfae frar sran 8, v 3% & T H ST AT B
1. Accommodation / IRl
2. Replication / qﬁzgﬁnm

3. Assimilation / ATcHIATIRIOT

4. Reproduction / GeA&cUTEA

Correct Answer :-
o Assimilation / JTcHATAhIOT

25) Using our phones while driving is an example of what kind of attention? / 3BT HId AT TAR
BT FT 3TANT FT 6T TFR & TUT FT TH 3607 82

1. Signal attention / R 3@y
2. Diffuse attention / fa¥qd 3raur
3. Selective attention / IIATCHD HTUTA

4. Divided attention / I 3T

Correct Answer :-



« Divided attention / TI9h 3T

26) Students with learning disabilities have significant in a school related
area such as reading, writing, reasoning, listening or math’s. / drEar Y reTHAT
ara B F Fhe W FAOT AT A g1, FOE=T, aF F, goAar v Aforq
# Agcaqor It &l

1. Grasping / GHST

2. Knowledge / SATABRY

3. Problems / AT
4. Difficulties / BISATSAT

Correct Answer :-

« Difficulties / f&aTSAT

27) Which of the following approaches to motivation does not rely on an intrinsic source?/

FTAIOT & v PrAfaf@a # @ Fia a1 eeHIor v 3afis A | iR A Far e
1. Cognitive / I3HTHSB

2. Humanistic /HATTITET

3. Behavioural / STa@RATE

4, Socio-cultural / Hd—lld-(—li(—@ﬁw

Correct Answer :-

e Behavioural / o?ilagllalél

28) Failure in performance is an essential part of Child learning process because: / Yl H UG,
T2 F Ff9H 1 gfhar &1 v fAa Rear § w9t

1. it helps in developing self awareness. / T8 31Tcd SINTRGAT B AT I H A Pl ¢

2. it prepares children for unpleasant experiences. / I& I<di &l g’l’ 3-1?3’34?ff ¥ for IR & &

3. it helps student in re examination. / J& Yel: e & orF fT Acg HIAT §l

4. it empowers children to understand that taking risks, big or small, is crucial in their learning journey. / J&

gl & HSTS & ToIT b I4TdT & fof S, 91 a1 Siel o T, 3¢ 39 & g &
AEcaql ¥




Correct Answer :-

e it empowers children to understand that taking risks, big or small, is crucial in their learning journey. / J&

g=dl ®l THSS & T Ik aa1ar & f6 S, 9871 I1 BT ofdT, 3¢ JAMH & g7 F
?H%caqpi %I

29) ‘Laura can design a spreadsheet’. This statement is an indicator of which attribute of aptitude test? /

AN, F Fsfie BIART X dFdl §1' I8 FIT AHER wliaror Hr Fa RFdvar w1 q@3F 2
1. Clerical thinking/ AT (forfidr) Riaa

2. Logical thinking/ d& QIfh

3. Organisational thinking/ §IT&ATcH® Ride

4. Numerical thinking/ 37& Ride

Correct Answer :-
« Logical thinking/ ddp QTfh

30) Which of these could be a cause for GDD?

| 3T ¥ HiT-a1 AN F AT vF FROT @ FFHar &2

1. Childhood infection / STU HI ThHHAUT
2. Childhood obesity / sgUa &T AT
3. Strict parenting / & TG

4, Excessive intake of sugar and additives/ @it 3R tfsfeca o 3rcafe daa

Correct Answer :-

« Childhood infection / TUeT &I HhHUT

Topic:- General Sanskrit(L1GS)

1)
GSSOTRAT: AT T ?
D D

_ TitsTe |
e |

2.



hSUTT |
3. ©

. Sl |
Correct Answer :-

~ 3cddl |

Y dsUd 3caE wIue fhe 2
afaa |

_ Taeua |

| 3Telmad |

, 3Tcelad |

Correct Answer :-

_ 37Tcead |




gt |
4. o
Correct Answer :-

airiﬁ |

4

)
Al 1dr: Ae-3cdAIY-Igd=®d fha ?
J e
1. T - I

. ACTAG |



Correct Answer :-

Y SRAET TSTeTfey & ?

1,

zléééll
IaUdYIH |

3. 2 T

RdegH |
4, -

Correct Answer :-

” giher: 3IFT @ geufed ?
. RSO ST |
_ gIehrom Ser: |
3.Eﬁﬁﬁmﬁ'§ﬂll
, EYIhIOT 3T |

Correct Answer :-

~ gIhIUT Ser: |



? FOT AscE erd: &: ?

5 |

C

corgll
coll

3. J

AT |

4

Correct Answer :-

? e sfa Freed ugH ?
Ecrcl

EAIIgaTH |
3. -
CIGERIE]
4. J Ty -

Correct Answer :-



Correct Answer :-

. Uodel: |

" ¢go iy TEAT el fo@d |
oI -URTATARIARITH |
1.

TSI -Thl=aRIfd: |
2.

ToCIccR-Uh aRIfaerds |
3.

TSGR -UPITaRIRITH |
4,

Correct Answer :-

TSGR -Uhl=TTaRIfRITH |

G L B L B R TAR G A T o g
U3 |

1.



13) - :
G ATFI ﬁlﬂﬁ |

el TR 8TOTH _ |
1.

ofiel O HATYUTH |

2

ffell O $[wouTH |

3
el T 8IUTH |
4,
Correct Answer :-
el T 8IUTH |



_ Idrm: 3eed |
, Iaram: 3teed |

Correct Answer :-

 arm: 3ea |

AT |

1 C
dIuT: |

2. =
JUT |



. alralaQTil

Correct Answer :-

18)

1. Sy
UqracI H: |
2. Sy

SCIESICRES

3

Jardica: |

4

Correct Answer :-



) gameifa: sfa esg eerad |
| TeTRllTd |
_ gaaeifd: |
EEACKI G

cegeifa: |

4.

Correct Answer :-

oI |

1.
) Shicacdl |
) hicacdl |

. shecAdcal |

Correct Answer :-




» g FfF 3w =7 7
1. d |

T |
AT |

3.
cd |
4. By

Correct Answer :-



TAAIST:’ ScET qUile] Joreh Yreh folad |

3 Ld 3 d 3L 3o 3

1

, a3 a3 d3 T3 3

, 9 3d dAr ol |

qI I T LA 3

4

Correct Answer :-
937 93 d 3 30 o 3

) AREFT 5T IIA: & ?
R

, o9

, cdl |

| I |

Correct Answer :-

25)

&T: e HAwd fohd ?



RGN
T |
¥
T

T |
4.

Correct Answer :-

G

Correct Answer :-
q4: |
. 2

27)

Al scaET fole &0 fohe 2
, ofelleh |
N foTellsh |



gﬂ’la%l
4.am=r|

Correct Answer :-

_ HEGHAIAA |

, dcdH |
, ddH |

Correct Answer :-

O UAH |

29)

¢.os 3T guerH 38 foad |
_ TFafAAYIcaRaTGeT |

I ANIc-37CalgTH |
| TSafIAYCR-31sedgeH . |




, TrafdAYIcaT-3rsedieTa |
Correct Answer :-

- AN c-3T5¢arGeTd |

Topic:- General Hindi(L2GH)

1) A B 3R A qaATHd g3 a1 7}
HE P §
R 98 Sardt i o

£33 A IS Frad it et B
3R I U TATE| & TR
Rigft o7 iR g:@ sgiza FA F1

IR Wi Al @

AT A TP IR YA HET UI-
30T F1 W W H & 7 |-
9% Uog @ fe=m @

IR TIRTS Bl g HIAT
gfSurh @t o T8 8

ITa U=IIRT ) UgHh d IR T UY HT IR ad134:



Y- UEgd Ui § A fpad g adi @ 2
1. 3cAT |

2.¥99 ¥

.34 W

4. g9t |

Correct Answer :-

« A

2) Ul $9R A gaTdra g3 a1 et
SE1 TP §
TR 98 Sart A S

S A IHS! ITddId it gt §
3R I T TRl & AR
Rieft o7 ok g5 sgiza FA 31

IRAT WS At @

AT A TP IR Y FET -
ST $t TRW W H &S Hd AT
T/ I e e

3R THRTS B Fg BT
gfearh Y o T8 R

ST Ui Bl UgHR -4 TR Y UY BT IR JaIsd:
- I Uil § &3 9 fiar fea a1d o) Ao 22
1. acg

2. 3 EYRIAT

3. eufaard

4, AT

Correct Answer :-

o eUfaaTE

3) W & 37 A garrerd g% a1 A
FeT Giwa §
TR 98 Sdrdt 4t o

$37 A IS qrad it et B
3R I U TATEl & TR
Rieft o7 ok g:@ sgiza FA F1



TR Wit At @

A1 3 & IR G4 el UT-
Zféor B aRE W H F Ta T
9% gog B = @

3R TIRTS BT Feg BT

i &Y ara T 2

ST U B UgHR -1 Y& T UY HT 30X qargd:

WH- Ugd Siaal § &g @1 A7 3 fry fazn &Y ok R = & 9 91 &) gae & &2
1. gfayor & feem

2. 9¥IAT & I 1 @eaRa R

3. faorar & fear

4. 3T=ROT 6 feam

Correct Answer :-

. gfgyor fr feam

4) 4 #Y 37 A gaTeTd g3 a1 el
FE giRPa s
TR 98 Sdrdt 4t o

S A IS ITddId gt gt §
3R I T TRl & AR
Rieft o7 iR g sgiza FA 31

IRAT WS At @

AT A TP IR Y FET -
ST $ RW W H &S Hd AT
T/ I e e

3R RIS B Fg BT
gfearh Y o T8 R

ST U B UgHR -1 IS T UY HT 36 qar3:
- it o ok g iz ® &1 utand @2

1. fSieealt g ox efarer

2. [Fegah & @y gagiian

3. Qe 1 geo S

4, 39 &1 Segaf

Correct Answer :-

. e & Ty gaEian



5) |l Pt 3R A YATHTd §3 a1 Tal
HE P §
TR 98 wart A a7

SR A ISP Fraid et gt §
3R I YT HATE! &b TR
et o iR g:@ 9giRa A 31

IRAT T Al @

A1 9 & IR G4 el -
aféror &Y aRw W H F Ta A0
9% qog @t femm @

IR TIRTS B Fog HIAT
A A aa

ST Ui B UgH 19 TR T UY BT IR gaTsd:
- g it ot TR 3 P A8 BRar w1 uard 82
1. el 3T B FIAD A BT &

2. BT Ao B RE W ah gl Al

3. ael g & Uiy T Tedm §

4. SUUH FH

Correct Answer :-

o 3WIH g

6) W F SR A YeAThTd g8 T T8l
S P o
TR 98 Saral dt 5

$37 A TS Trad Bt e B
IR ST YT HATE! &b ATAR
gl o iR g:@ wefza A &1

IRAT WIS At @

A1 3 & IR G374 el UT-
2301 F WP W F 7 |
g Ug B fe=m @

3R TIRTS Bl Feg HAT
A N T e

Iued U= ) Ugehs 19 U T UY HT IR Id133:
- ‘IR BT yargard 981 82

1.9q

2. TOT

3. Urg



4. ORI

Correct Answer :-

7) §i B $3R A gereprd g8 U1 &
HET ied 8
TR 98 Sdrdt 4t o

$37 A ST Trad g1t et B
IR ST YT HATE! &b ATAR
gt o 3R g:@ wefza s &1

I @ A R

A1 3 & IR G4 el UT-
SfEor B TR® W BT &b Ad AT
98 Ug B fe=m @

3R RIS B Feg BT
ST & ara T2

Iued U= ) Ugehs 19 U T UY HT IR Iad133:
UH- ‘gigue &1 faaw ghme

1. gerard

2. TTTH

3. ATACR

4. Q@

Correct Answer :-

8) Wl ®! 4R A YaTPhTd g3 a7 el
SE1 P §
TR 98 Sart A =7

S A IHS! ITddd it gt ©
3R I T TRl & AR
Rieft o7 ok g:@ sgiza FA 31

IRAT WS At @

AT A TP IR YA FET UI-
ST $ RW W H &S Hd I
T/ I e e

3R THRTS B Fg BT
gfearh Y o T R

ITa U= B g Id IR T UY HT IR Id134:



wA- e Ig A A A @2
1 g

2. Effelar

3.3 @ PIS AL

4. sFgferT

Correct Answer :-

9) Hi # $347 A gaTeTd g3 AT el
FE giRPa s
TR 98 Sdrdt 4t o

S A IHS! ITddId it gt §
3R I T TRl & AR
Rieft o7 iR g sgiza FA 31

IRAT WS At @

AT A TP IR Y FET -
ST $t TRW W H &S Hd AT
T/ I e e

3R THRTS B Fg BT
gfearh Y o T8 R

ST Ui Bl UgHR -4 TR Y UY BT IR JaIsd:
- 0T B $9R N aTdrd g3 a1 T8l ufea A srdeR 82
1. §E

2. HifqAT

3. 37U

4. ¥UhH

Correct Answer :-

10) T &1 YT A ATHId g3 AT g1
HE1 iepa §
TR 98 Sart A a7

$37 A IS qrad it et B
3R I U TATEl & TR
Rigft o7 ok g3 sgiza FA F1



IRAT G A<l @

A1 3 & IR G4 el UT-
Zféor B aRE W H F Ta T
9% gog B = @

3R TIRTS BT Feg BT

i &Y ara T 2

ST Ui ) Ug@} I TR 7T Uy BT IR TaIgd:
U=H- Sférur & srarar &9 W v fa=m =8 82
1. iR

2. 30

3. @
4. 3R

Correct Answer :-

11) W1 P YR A gaATHTd g3 a1 1Y
ST qipd 3
TR 98 Saral qt 5

S A IS ITddId gt gt §
3R I T TRl & AR
Rieft o7 iR g sgiza FA 31

IRAT WS At @

AT A TP IR Y FET -
ST $ RW W H &S Hd AT
T/ I e e

3R RIS B Fg BT
gfearh Y o T8 R

ST U B UgHR -1 IS T UY HT 36 qar3:
- a1 $t WP W FA 31 3 82

1. 0 i i

2. 37Teg & U

3. Jcg HT 3T

4. UT T AT Bl

Correct Answer :-



12) AT $t $3R I ATHTd g8 a1 T}
HE P §
TR 98 wart A a7

SR A ISP Fraid et gt §
3R I YT HATE! &b TR
et o iR g:@ 9giRa A 31

IRAT T Al @

A1 9 & IR G4 el -
aféror &Y aRw W H F Ta A0
9% qog @t femm @

IR TIRTS B Fog HIAT
A A aa

ST U Bl UgHR -1 Y T UY BT 3T qaA13d:
URH- IRAT T a1 e 82

1. 3T @IS ol

2. JJEAT ACH STl
3. T&Ed W I

4. T W 31T AT

Correct Answer :-

o 33U WIS ol

13) AT It YR A ATHTd g3 a1 Tt
w1 YfTpd o
TR 98 Sardt A o=

$37 A TS Trad Bt e B
IR ST YT HATE! &b ATAR
gl o iR g:@ wefza A &1

IRAT WIS At @

A1 3 & IR G374 el UT-
2301 F WP W F 7 |
g Ug B fe=m @

3R TIRTS Bl Feg HAT
A N T e

Iued U= ) Ugehs 19 U T UY HT IR Id133:
- Frafafed & 9 awRer o1 yatgar 98 g 2

1. Sffaasr

2. it

3. A



4. arerg

Correct Answer :-

14) T &1 YR A ATHId g3 AT 71
HE P ©
TR 9g Sardt it 9

$37 A ST Trad g1t et B
IR ST YT HATE! &b ATAR
gt o 3R g:@ wefza s &1

I G adt R

A1 3 & IR G4 el UT-
301 F WP W F 7 |
98 Ug B fe=m @

3R RIS B Feg BT
ST & ara T2

Iued U= ) Ugehs 19 U T UY HT IR Iad133:
- Frafafea 4 9 g &1 wafgard 82

1. 3k |l

2. R

3. &1

4. Jeid

Correct Answer :-

15)ﬁﬁ$§ﬂ#§m§€maﬁ
Fgell qRFA ¢
9T g SAard off S

$2aT ¥ 3T I gt e §
3R 3HY yIoT qARl F HTAR
Sicaht sier 3t 3@ adhed = &

IEAT @ A ¥

Al F TF IR AHA FET UT-
gior it WE W T & A7AT AT
aF g 1 faar §

3R TS F FEU FEAT
ittt &Y ara ad @

39T UGHIT Y YGHT AT T AT YT FT I TS



W -§eE W IHH qTAAd el WA § THFT F IYSY Aq ¢ -
1. Y&

2. I

3. 3D

4. 34T

Correct Answer :-

16) UgH 91 U & fEgwa & aum Tifkicl @Y avg, 3% THRTa ara oY, Trgel § T Sifyd 4 iR W
AT U HTgd UM 91d A1 99 o1 A 9 fegeari! A, I Jgv-1iey, J-¢7,ugiR-forars aad i 31 7
¥ o1 g8 @ 5 gAN S A A} I S FeA ara € S P N 98 UL A, Wieh-Age gf a1 /Y fyar sht
F WA | YA TSP, AT BT TSTS TS, AT WIeh 3R Mg TR AT I, Sdedl ITD ATgal TGR FT &
wwm—mmmﬁm%ﬁﬁvﬁﬁaﬁaﬁﬁwmmm IUH JAHTD FT DS
qR&EYT it AT Ft Fe U st T 3iv A1 &Y Iidl, A Ania® Iu-HYUTd ff, S P &
ﬁ%wa%ﬁwmwgaﬂ%mﬂmﬁaﬁmﬁw@maﬁmﬁmﬁ,mﬁvgﬁumﬁ%
WY SAFERY ok Freasmar o 59 avg gen-freht R 9 3 wiltema @ o0 sgd 78 wram usd! ff | 39 3
PTH HIAH B BIS A W T8 Topdr UT1 8T, T 319 3R aTS B B & forg ITa! Far- I = AffY
STt At 3R TRR B aPR P ave [FUrS ff Sl ot

ST TR HI Ugh 1 U 7Y Uy HT 36X Jarsd:
- TR & R 3 & a9 98 URHS BT A?
1. AATIS NaT

2. ST T & At

3. YT GAT arel

4, TSET I 9T Tz aTe

Correct Answer :-

17) Ugdt 91d % & g & a0 aifial @1 @vg, S9d IxgRTa ardl ff, argal & @ Hfiyd 3 iR &
AT UG 9169 UM 9Td 4| 99 o1 ¥ 4 fegzari A, 9t dg-uiey, T1-37, U -forars aad 3w 31 7at
¥ a1 a5 Nt R gar 3 & ST Y S A ATt € s F TR 9 TRiE A, TeR-Ige & ar A% Rar o
F IRATA | YA TSP, AT BT ASTS TS, ST WIel 3R Med W BT T8, TSl IUD ATeal TR PT &
mlwm—m—mmﬁm%ﬁﬁwﬁﬁa@mﬁmﬁw-wmﬁﬁ,wﬁﬁ%waﬁi
TR&YT et AN F TP U At Tfesr iR AT #1 I, 3 AiEE Iu-HUTd ff, Wit FE F
faferm &) 3R et a7 gt | gt aorg of 3t ot femaa 1 3 e, Toed, IR gaeN &
1Y SAFGRY 3R et $© 59 @vg Teit-freht B 3t 3 uikeia @ w0 wigs =8 Ay vsdt ff 1 373 o
BTH HIAM $t Pig Arg W 781 GFa1 U1 BT, T 314 3R TATE FH B P (AT SADT AT I AT AT
STt 2t 3R URR B APk Ft avg Fug o STt <&t

IUYT TR B UHR 14 Y& 7T UY BT 30 9d154:



U- | 1 fagiwar T8 A2
1. had fAvuetar

2. had GIaHI
3. haol SHTAGHT
4. 3Uh Y

Correct Answer :-

o WP T

18) Ugel 91d g f Rgw & aur aifXiel @1 @vg, 37% IRTa ardt f, Jreal & TR AfyE A iR W
AT U HTgd UM 91d A1 99 o1 A  fegearit A, Il Jgv-1iey, J-¢7,ugn-forars aad i 31 7t
F 91 g8 i fF R 2 H SATeITdT B ST ASA ardl € 3l & Had 98 URied 4, Mih-Ag< gf a1 A fuar st
F WA | YA TSP, AT BT ASTS TS, T WIeH 3R Mg TR HIAT @, TGl I0D ATgal YR P18
4TI TP ATH-TH-TM 91 JTed 7 37 RRIBY a5F B vt Age-o- asa! Wi, 39 A9ias w1 oI
TR YT Bl AT Bt Te U nfest Tfesr oiv AT &Y IWmidl, 3 AuiTe Iu-HUTE ff, oY Faret &
faferer ot oix mer s gt off| gt aig Ot o1 Sru-it ifemaa <t 37 W, 9w, R-gaert &
1Y SAFGRY 3R FHoerdr $© 59 @ve geit-fredlt B Ft 3 uiveia @ w1 wigs =81 aaw vsdt ff 1 374 o
PTH B B BI1S A H T8 TobdT UT1 8T, T 319 3R TaATS B B S oI ITa! Far- I R AffY
STelt At 3R TRR F FER P ave [T ff Sl ot

ST TR P TP A9 YD T Uy HT IR gaTsd:
- 3ifya &1 3ref 82

1. Fsget @

2. QAR Bl

3. O Bl

4. gHTTIS Bl

Correct Answer :-

o gHTfad B

19) Ugd! a1d g % fEgwam & qur qiikicl 9t avg, S aRTa ardl ff, Jreel @ @ fiygd 3 s WY
AT UG 9169 UM Td 4| 99 o1 9§ 9 ffgaril A, 9t dg-uie, T1-37, U -forars 9ad it 31 7at
¥ 91d gt P AR 3 H eIt P ST Fe ard g 3RS & e 98 uRig® 3, mdh-AgT 8 a1 A fuar s
F WA | HA TSP, AT B ASTS TS, F TTell 3N WgTd TR Bl T8, Saeal 3P JTgal IR o1 &t
YT| T 3TH-9-TM T HIed 1 39 RRIBY 8P B U Ae-u1 asa! T, IR AiTs F1 Hig
R T gl A1 Ft Te U nfadt Tfesr v AT @Y Iomid, @ Auiae Iu-HYUTE ff, oY et &
faferm &) 3k et a7 gt f | gt aorg ot 3t ot femaa 1 3 e, Toed, R gaeN &
1Y SR 3R Frwamd $ 59 v ge-fie < 1 3 miea @ 39 sigé 781 A1 usdt Of| 39 o
FTH TR $I Hig Ara W T FHar 71 5T, X 31 SR §aATS BT HI F Y ITT A I Fvew qif
STet At 3R TRR F TPR P @ [urs ff Sl ot

IUYT TR B UHR 14 Y& 7T UY HT 30 9d154:



- UeR-forars’ § wyga (-) frs o 1 Fed 72
1. 3TeUTRTA

2. omaa e
3. QU1 TRt
4. Aot Ieg

Correct Answer :-

. A5d R

20) U<l a1a g8 % fEgwam & aam qikicl @ @i, 37 aRme ara off, areel @ urt eifiyg 4 ek W
AT U HTgd UM 91d A1 99 o1 9  fegwari! A, Il Jgv-1iey, J-¢7,ugiR-forars aad i 31 7t
F 91 g8 i fF R 2 H SATeITdT B ST ASA ardl € 3l & Had 98 URied 4, Mih-Ag< gf a1 A fuar st
F WA | YA TSP, AT BT ASTS TS, T WIeH 3R Mg TR HIAT @, TGl I0D ATgal YR P18
4TI TP ATH-TH-TMH 91 JTed 7 37 RRIBY a5F B vt Age-o- asa! W, 39 A9ias w1 oI
TR YT Bl AT Bt TR U nfest Tfesr eiv AT &Y Iomidl, 3 Auiged Iu-HYUe ff, St FeT i F
faferer 3t oix rer 3= gt off| gt aie At @t S wfSaaa ft | 37 WER, Todd, IR gt &
1Y SAFGRY 3R FHoerdr $© 59 @ve geit-fredlt B 3t 3 uiveia @ w1 wigs =81 aaw vsdt ff 1 374 o
PTH HIAH B BIS A W T8 Tobdr UT1 8T, T 319 3R TATS B B S forg ITd! Far- I R AffY
STelt At 3R TRR F FER P ave [T ff Sl ot

ST TN DI USHR A I T YUY BT IR F4153:
- T & SFAR DIH-31 AHaP SuHAUTE A2
1. dhad AT B TARHY AT Earfeer

2.3 A P A
3. hdel AT Y ISATFHT
4. AT A FeIpHd TR Tarfeer 3R A & S St

Correct Answer :-

o AT & AP INTEY Tarfer 3R aar Hir &S =t

21) Ugdl 91d I8 % fEgwar & qam aiicl @1 @vg, 39 TRTa ara off, Areal @ W Sifiya A iR W
AT UG 9169 UM Td 4| 99 o1 9§ 9 ffgaril A, 9t dg-uie, T1-37, U -forars 9ad it 31 7at
¥ 91d gt P AR 3 H eIt P ST Fe ard g 3RS & e 98 uRig® 3, mdh-AgT 8 a1 A fuar s
F WA | HA TSP, AT B ASTS TS, F TTell 3N WgTd TR Bl T8, Saeal 3P JTgal IR o1 &t
YT| T 3TH-9-TM T HIed 1 39 RRIBY 8P B U Ae-u1 asa! T, IR AiTs F1 Hig
R yT gl A1 9 Te U nfEdt Tfer v AT @Y Iomidl, 3 Auiae Iu-HYUe ff, St Fe F
faferm &) 3k et a7 gt f | gt aorg ot 3t ot femaa 1 3 e, Toed, R gaeN &
1Y SR 3R Frwamd $ 59 v ge-fie < 1 3 miea @ 39 sigé 781 A1 usdt Of| 39 o
FTH TR $I Hig Ara W T FHar 71 5T, X 31 SR §aATS BT HI F Y ITT A I Fvew qif
STet At 3R TRR F TPR P @ [urs ff Sl ot

IUYT TR B UHR 14 Y& 7T UY HT 30 9d154:



- TR B ABIR’ gTax BT 34 32
1. aifddAT

2. YT

3. 31fdC

4. ordrell

Correct Answer :-

22) Ul a1a g8 % fEgwam & aam qiikicl 9 @y, 37 uRme ara off, agel @ wr eifiyg 4 ek W
AT U HTgd UM 91d A1 99 o1 9  fegwari! A, Il Jgv-1iey, J-¢7,ugiR-forars aad i 31 7t
F 91 g8 i fF R 2 H SATeITdT B ST ASA ardl € 3l & Had 98 URied 4, Mih-Ag< gf a1 A fuar st
F WA | YA TSP, AT BT ASTS TS, T WIeH 3R Mg TR HIAT @, TGl I0D ATgal YR P18
4TI TP ATH-TH-TMH 91 JTed 7 37 RRIBY a5F B vt Age-o- asa! W, 39 A9ias w1 oI
TR YT Bl AT Bt TR U nfest Tfesr eiv AT &Y Iomidl, 3 Auiged Iu-HYUe ff, St FeT i F
faferer 3t oix rer 3= gt off| gt aie At @t S wfSaaa ft | 37 WER, Todd, IR gt &
1Y SAFGRY 3R FHoerdr $© 59 @ve geit-fredlt B 3t 3 uiveia @ w1 wigs =81 aaw vsdt ff 1 374 o
PTH HIAH B BIS A W T8 Tobdr UT1 8T, T 319 3R TATS B B S forg ITd! Far- I R AffY
STelt At 3R TRR F FER P ave [T ff Sl ot

ST TR P TP A9 YD T Uy HT IR gaTsd:
T "RMERd’ Aeg BT A 32

193

2. A

3. et

4. IAg

Correct Answer :-

o U

23) Ugdl 91d I8 % fEgwar & aam aiicl @1 @vg, 39 TRTa ara off, Areal @ W Sifiyd A iR W
AT UG 9169 UM Td 4| 99 o1 9§ 9 ffgaril A, 9t dg-uie, T1-37, U -forars 9ad it 31 7at
¥ 91d gt P AR 3 H eIt P ST Fe ard g 3RS & e 98 uRig® 3, mdh-AgT 8 a1 A fuar s
F WA | HA TSP, AT B ASTS TS, F TTell 3N WgTd TR Bl T8, Saeal 3P JTgal IR o1 &t
YT| T 3TH-9-TM T HIed 1 39 RRIBY 8P B U Ae-u1 asa! T, IR AiTs F1 Hig
R yT gl A1 9 Te U nfEdt Tfer v AT @Y Iomidl, 3 Auiae Iu-HYUe ff, St Fe F
faferm &) 3k et a7 gt f | gt aorg ot 3t ot femaa 1 3 e, Toed, R gaeN &
1Y SR 3R Frwamd $ 59 v ge-fie < 1 3 miea @ 39 sigé 781 A1 usdt Of| 39 o
FTH TR $I Hig Ara W T FHar 71 5T, X 31 SR §aATS BT HI F Y ITT A I Fvew qif
STet At 3R TRR F TPR P @ [urs ff Sl ot

IUYT TR B UHR 14 Y& 7T UY HT 30 9d154:



UH- ST A S AT I § ?
1.§g A
2. ITAHTT gATH

3. cgey A
4, FAIRT AT

Correct Answer :-

o JCTAHTT FAT

24) Ugel 91a g8 % fEgwam & aum qikicl 91 @, 37 ugRe ara off, argel @ ur eifiyg 4 ek W
AT U HTgd UM 91d A1 99 o1 9  fegwari! A, Il Jgv-1iey, J-¢7,ugiR-forars aad i 31 7t
F 91 g8 i fF R 2 H SATeITdT B ST ASA ardl € 3l & Had 98 URied 4, Mih-Ag< gf a1 A fuar st
F WA | YA TSP, AT BT ASTS TS, T WIeH 3R Mg TR HIAT @, TGl I0D ATgal YR P18
4TI TP ATH-TH-TMH 91 JTed 7 37 RRIBY a5F B vt Age-o- asa! W, 39 A9ias w1 oI
TR YT Bl AT Bt TR U nfest Tfesr eiv AT &Y Iomidl, 3 Auiged Iu-HYUe ff, St FeT i F
faferer 3t oix rer 3= gt off| gt aie At @t S wfSaaa ft | 37 WER, Todd, IR gt &
1Y SAFGRY 3R FHoerdr $© 59 @ve geit-fredlt B 3t 3 uiveia @ w1 wigs =81 aaw vsdt ff 1 374 o
PTH HIAH B BIS A W T8 Tobdr UT1 8T, T 319 3R TATS B B S forg ITd! Far- I R AffY
STelt At 3R TRR F FER P ave [T ff Sl ot

ST TR P TP A9 YD T Uy HT IR gaTsd:
- TR § 2

1. STaR

2. gafy

3. geT

4. Bl

Correct Answer :-

25) Ugdl 91d I8 % fEgwar & aam a1icl @1 @y, 9% TRTa ara off, Areal @ W Sifiyd A 3R WY
AT UG 9169 UM Td 4| 99 o1 9§ 9 ffgaril A, 9t dg-uie, T1-37, U -forars 9ad it 31 7at
¥ 91d gt P AR 3 H eIt P ST Fe ard g 3RS & e 98 uRig® 3, mdh-AgT 8 a1 A fuar s
F WA | HA TSP, AT B ASTS TS, F TTell 3N WgTd TR Bl T8, Saeal 3P JTgal IR o1 &t
YT| T 3TH-9-TM T HIed 1 39 RRIBY 8P B U Ae-u1 asa! T, IR AiTs F1 Hig
R yT gl A1 9 Te U nfEdt Tfer v AT @Y Iomidl, 3 Auiae Iu-HYUe ff, St Fe F
faferm &) 3k et a7 gt f | gt aorg ot 3t ot femaa 1 3 e, Toed, R gaeN &
1Y SR 3R Frwamd $ 59 v ge-fie < 1 3 miea @ 39 sigé 781 A1 usdt Of| 39 o
FTH TR $I Hig Ara W T FHar 71 5T, X 31 SR §aATS BT HI F Y ITT A I Fvew qif
STet At 3R TRR F TPR P @ [urs ff Sl ot

IUYT TR B UHR 14 Y& 7T UY HT 30 9d154:



- freagr o1 faew g2
1398 & PIg €

2. 3TusT

3. |IUet

4. T

Correct Answer :-

. qae

26) Ul a1a U8 % fEgwam & aum qikicl @ @, 37 ugRTe ara off, wrgel @ wr eifiyg & ek W
AT U HTgd UM 91d A1 99 o1 9  fegwari! A, Il Jgv-1iey, J-¢7,ugiR-forars aad i 31 7t
F 91 g8 i fF R 2 H SATeITdT B ST ASA ardl € 3l & Had 98 URied 4, Mih-Ag< gf a1 A fuar st
F WA | YA TSP, AT BT ASTS TS, T WIeH 3R Mg TR HIAT @, TGl I0D ATgal YR P18
4TI TP ATH-TH-TMH 91 JTed 7 37 RRIBY a5F B vt Age-o- asa! W, 39 A9ias w1 oI
TR YT Bl AT Bt TR U nfest Tfesr eiv AT &Y Iomidl, 3 Auiged Iu-HYUe ff, St FeT i F
faferer 3t oix rer 3= gt off| gt aie At @t S wfSaaa ft | 37 WER, Todd, IR gt &
1Y SAFGRY 3R FHoerdr $© 59 @ve geit-fredlt B 3t 3 uiveia @ w1 wigs =81 aaw vsdt ff 1 374 o
PTH HIAH B BIS A W T8 Tobdr UT1 8T, T 319 3R TATS B B S forg ITd! Far- I R AffY
STelt At 3R TRR F FER P ave [T ff Sl ot

ST TN DI USHR A I T YUY BT IR F4153:
- fafer 9 ared 82
1. UeWY

2. TaereTelt

3. 371G,
4, JE@IAT

Correct Answer :-

27) Ugdl 91d I8 % fEgwar & qam aiicl @1 @, 396 TRTa ara off, Areal @ W Sifiyd A SR WY
AT UG 9169 UM Td 4| 99 o1 9§ 9 ffgaril A, 9t dg-uie, T1-37, U -forars 9ad it 31 7at
¥ 91d gt P AR 3 H eIt P ST Fe ard g 3RS & e 98 uRig® 3, mdh-AgT 8 a1 A fuar s
F WA | HA TSP, AT B ASTS TS, F TTell 3N WgTd TR Bl T8, Saeal 3P JTgal IR o1 &t
YT| T 3TH-9-TM T HIed 1 39 RRIBY 8P B U Ae-u1 asa! T, IR AiTs F1 Hig
R yT gl A1 9 Te U nfEdt Tfer v AT @Y Iomidl, 3 Auiae Iu-HYUe ff, St Fe F
faferm &) 3k et a7 gt f | gt aorg ot 3t ot femaa 1 3 e, Toed, R gaeN &
1Y SR 3R Frwamd $ 59 v ge-fie < 1 3 miea @ 39 sigé 781 A1 usdt Of| 39 o
FTH TR $I Hig Ara W T FHar 71 5T, X 31 SR §aATS BT HI F Y ITT A I Fvew qif
STet At 3R TRR F TPR P @ [urs ff Sl ot

IUYT TR B UHR 14 Y& 7T UY HT 30 9d154:



- “feEaa &1 3 82
1. fhed

2. AT

3. RIeprId

4. RIBRY

Correct Answer :-

28) Ugel a1a U % fEgwam & aum qiikicl @ @iy, 37 uyRTa ara off, weel @ W eifiyg & ek W
AT U HTgd UM 91d A1 99 o1 9  fegwari! A, Il Jgv-1iey, J-¢7,ugiR-forars aad i 31 7t
F 91 g8 i fF R 2 H SATeITdT B ST ASA ardl € 3l & Had 98 URied 4, Mih-Ag< gf a1 A fuar st
F WA | YA TSP, AT BT ASTS TS, T WIeH 3R Mg TR HIAT @, TGl I0D ATgal YR P18
4TI TP ATH-TH-TMH 91 JTed 7 37 RRIBY a5F B vt Age-o- asa! W, 39 A9ias w1 oI
TR YT Bl AT Bt TR U nfest Tfesr eiv AT &Y Iomidl, 3 Auiged Iu-HYUe ff, St FeT i F
faferer 3t oix rer 3= gt off| gt aie At @t S wfSaaa ft | 37 WER, Todd, IR gt &
1Y SAFGRY 3R FHoerdr $© 59 @ve geit-fredlt B 3t 3 uiveia @ w1 wigs =81 aaw vsdt ff 1 374 o
PTH HIAH B BIS A W T8 Tobdr UT1 8T, T 319 3R TATS B B S forg ITd! Far- I R AffY
STelt At 3R TRR F FER P ave [T ff Sl ot

ST TR P TP A9 YD T Uy HT IR gaTsd:
TR~ AP’ WG 82

1. §Epd

2. TRy

3. BRET

4. 31U

Correct Answer :-

29) Ugdl 91d I8 % fEgwar & qum a1iel @1 @, 9% TRTa ara off, Areal @ W Sifiyd A iR W
AT UG 9169 UM Td 4| 99 o1 9§ 9 ffgaril A, 9t dg-uie, T1-37, U -forars 9ad it 31 7at
¥ 91d gt P AR 3 H eIt P ST Fe ard g 3RS & e 98 uRig® 3, mdh-AgT 8 a1 A fuar s
F WA | HA TSP, AT B ASTS TS, NF TTell 3N Wgd TR B T8, Saeal 3P Jrgal IR &1 &t
mwm—mmmﬁmﬁﬁﬁwﬁﬁaﬁaﬁﬁwmmm I IS FT DI
R yT gl A1 F Te U nfEdt Tfesr v AT @Y Iomidl, 3 Auiae Iu-HYUe ff, St Fe F
faferm &) 3k et a7 gt f | gt aorg ot 3t ot femaa 1 3 e, Toed, R gaeN &
12y SR 3R FIaT 3o 59 AR gal-frel) Ot # 3 e & ww wigd Y e vsd 1 3 o
BTH DA $t Pig Ag W 781 GFa1 U1 BT, T 314 3R TATE FH B & (AT AP AT I AT AT
STl <t 3R URR FY B B e FAurS oft st ot

IUYT TR B UHR 14 Y& 7T UY HT 30 9d154:



TH- R v &
1. FIATH

2. |1

3. fopa

4. fayor

Correct Answer :-

30) Ugdl a1 98 ¥ figwam & aum aikicl 3t @, 39 TR ara off, urgel @ ur eifinyg & ek W
AT U HTgd UM 91d A1 99 o1 9  fegwari! A, Il Jgv-1iey, J-¢7,ugiR-forars aad i 31 7t
F 91 g8 i fF R 2 H SATeITdT B ST ASA ardl € 3l & Had 98 URied 4, Mih-Ag< gf a1 A fuar st
F WA | YA TSP, AT BT ASTS AT, T WIeh 3R Mg TR AT T, Sl ITD ATgal YR P18
YT| TP AT—aT-]1T 9T TIEd A 3% RRIBY a5 F U=l Adh-o= dso! T, 3T AWiTd F1 B
TR YT Bl AT Bt TR U nfest Tfesr eiv AT &Y I9midl, 3 Auiaed Iu-HYUe ff, 5t FeT i F
faferer 3t oix rer 3= gt off| gt aie At @t S wfSaaa ft | 37 WER, Todd, IR gt &
1Y SAFGRY 3R FHoerdr $© 59 @ve geit-fredlt B 3t 3 uiveia @ w1 wigs =81 aaw vsdt ff 1 374 o
PTH HIAH B BIS A W T8 Tobdr UT1 8T, T 319 3R TATS B B S forg ITd! Far- I R AffY
STelt At 3R TRR F FER P ave [T ff Sl ot

ST TR P TP A9 YD T Uy HT IR gaTsd:
- ‘ASHT FT fIdd <eg gRIT 2

1. geaT

2. qTeleh

3. TIEhT

4. olchs]

Correct Answer :-

Topic:- Mathematics (MAT)

1) Write the cubic polynomial whose sum of zeros, sum of product of its zeros taken two at a time
and product of zeroes respectivelyare 4,1,and-6: /

a‘sa?ragﬂaaaw,maﬁmﬂ,ﬂ%pﬁ*wwﬂwwwﬁﬂﬁmwﬁ
YT FI FT A0 FAM: 4,1 K -6 &

1.x3+4x2+x—5

5 X% —dx?+x+¢



3_x3+4x2+x+5

4.x3—4x2+x—6

Correct Answer :-

2) Ifa > 0 and b < 0, then the point P(a,b) lies in: /
gfda > 0Td b < 03, f9g P(a,b) AT E:

1. 2" quadrant / fg<ta Tqufar

2. 4" quadrant / Tq¥ =Tt
3. 3" quadrant / g =i
4. 15t quadrant / TIH ﬂ?ﬁﬁ‘\’T

Correct Answer :-

o 4" quadrant / T Tgater

3) A figure on a graph sheet covers 10 fully filled squares, 8 half-filled squares, 3 more than half
filled squares and 6 less than half-filled squares. Find the total area. /

T I e UR TH 3fidsT 10 1 &1 Yuf U J, 8 91 o1 3141, 3 991 ot 31 A 31 3R 6 T Ht
Y A FY WRAT 8| T &ABA J1d B

152 sq units / 15- @et g@rs
1. “ &=

2.21 sq units / 21 T 3HS
3.23 sq units / 23 TN FHE
4. 17 sq units / 17 G971 PS5

Correct Answer :-

« 17 squnits / 17 T3 FHE

4) If the CSA of a solid right circular cylinder of height ‘h’ and radius ‘r’ is one-third of its total
surface area, then the correct formula is: /

I b FAE qUT o BSAT T TF S FF JA AT FT qF YO AT FHF Tl JSOT AABA
#1 vw-fagr$ &, g9 W g7 &



3.2h=r

4. h=2r

Correct Answer :-

e« 2h=r

5) Four equal rectangles with length ‘a’ and breadth ‘b’ are joined to form a bigger rectangle.
Denote the area of bigger rectangle as x. /

TS a’ 3R dISTS b'aTd IR HHM 3Tgdl ] TP T81 3Tad 91 & e fAamar S g1 x & a9 §
T2 3T P &TFd Bl GUY|

1 X= dab

5 ab = 4x

3.x=4a+4b

4.x=4—|—ab

Correct Answer :-
L X= dahb

6) What are the additive identity, additive inverse and multiplicative identity of -1? /
-1 ¥ GNP THHD, TP Ufaad 3R U Toq0S T 8?2

1.0,1,1

2.0,1,-1

3.0,-1,-1

4.0,-1, 1

Correct Answer :-



7) What is the predecessor of 218010? /
218010 Ft Ydad! T frast g2

1. 228010

2. 218011

3. 218009

4. 218000

Correct Answer :-

« 218009

8) Which property can be used to solve this problem? Find the solution. /
39 UY Y g6 B3 & e 5w o1 &1 Ium far 5 gehar 32 89 6 SR
98654.7x726+ 98654.7x274 =?

1. Associative; 98654700 / TTE<R TUT; 98654700

2. Both associative and commutative; 98654700 / W?R'f Td Hy-faf ey ur M ; 98654700

3. Distributive; 98654700 / facRumcas o1, 98654700

4. Commutative; 986547000 / sa-fafaadar aqom; 986547000

Correct Answer :-

« Distributive; 98654700 / facaRomcaes o1, 98654700

9) A triangle and a parallelogram are on the same base and between the same parallels. The ratio of
the area of triangle and parallelogram is ./

T Y 9 FUHiaR Igds UM YR W YT GHH JaHR v@rsi & dg fRua &1 By« aur sasia
T FATraHISIUE . B

1.1:3
2.1:2
3.2:3

4.3:4

Correct Answer :-



10) Foran equilateral APQR, the vertices Q and R are (-3,0) and (3.0) respectively, then the 3rd
vertex P is: /

Ueh THGE APQR&F e, ofif Q uad R&#HT (-3.0)Td (3.0) &, ar o ofd P &

(0343)

1.

(093)

3.(0,3)

4.(0,4)

Correct Answer :-

(0343)

11) o7 . fge
) IfX is the mean of 11 observations XicHoiFss  enemouss X,,.then Z'f;l(xl- —X)= )
afg n FATOT X,,%5,%3, e X BART X B, A L0, (x; — X)= |
LN
2. X
3.1
4.0

Correct Answer :-

12) The polvgon having interior angles 117° 63° 32° 128°is:/

117° 63°,52°,128° TR HIVTTTAT ggagat &
1. Concave / 31ddel

2. Regular / @&

3. Convex / 3do1



4. Convex and Regular / 3del 3R &

Correct Answer :-
e Convex / 3del

13)

In AABC, D and E are points on AB and AC respectively such that DE|BC, AD = x, DB=x — 2,
AF= x+2,andEC=x—1thenx=__ "

AABC #. AB3IRACT &#er D3R E§g 59 &R § & DEIBC.AD = x. DB=x — 2.
AE=x 42, dWEC=x—1%.dlx=___|

1.1
2.3
3.0

4.4

Correct Answer :-

14) One angle of a decagonis 90°and all the remaining nine angles are equal. Then the measure of

the other angles is: /

UF GRAT HT UH HIOT 90° 3R A Fafr &t Fror SR . A 377 Fwon i A9 g

150°
1.
5 120¢°

e
3.

115°
4,

Correct Answer :-

150¢°



15) In APQR., PQ=3 cm, QR=4 cm then which of the following is not the side of a tniangle : /

APQR #, PQ=3 ¥#.QR=4 ##T §. T Foafaf@a & & &ia<r B &1 s 787 &

1.7 cm /7 S
2.3cm/3 qHl
3.2cm/2 4
4.5cm /5 9HI

Correct Answer :-

e 7cm /7 It

1 1
16) o st dhen thevalueof = 5 ~is:
i

Ife a+b=2ab . @l l+§$r AT &
i

[y
(R

e | =

2.
3.2

4.4

Correct Answer :-

17) " Given AABCADEF and AABC#AFDE then which of the following is not true? /
AABCZADEF 3R AABC2AFDE & arar §, ar Fafef@a & & wiaar agr ag1 82

1. CB=EF

2. BC=FE

3. AB=DF

4, AC=FD

Correct Answer :-



18)  Find who spends second least on fencing from the given table.
Name Shape of land Length of one side
Abhi Equilateral triangle 50m
Sanal square T0m
Mohan Fegular pentagon 60m
Suresh Regular hexagon 30m
& a5 aifeieT ¥ A X [ a5 oeel 9 GOl dad &
g FHid AT 87
o A H EHR UF ST H oEs
i SEELRES ] 50 HIeX
el aar 70 Hex
HAGa GH gerEgel 60 Hiex
qer A g 30 Hiex
1. Abhi / Hf&

2. Suresh / A
3. Mohan / #Aed

4. Sanal / 9-d

Correct Answer :-

« Suresh / Ao

19) Inatriangle PQR, £P=59Y, +Q=60" and £R=61" . The largest side of the triangle is: /
U e PQR #. £P=39°, £Q=60° 3R £R=61°&| Tegat &1 Wady @t oot &

1 ZP

s
2.

3.PQ

4. QR

Correct Answer :-

e PQ



20) Find the 3rd zero of the polynomial x*4+7x2-2x-14 | if two of its zeroes are —/2 andV2/

TgUE +7x7-2x-14 T AR Yodh AT F, ARG 5805 o YoIh —V2 TdV2 Bl
1. -7
2.3
3.5

4.7

Correct Answer :-

I

21) 1, . : i I
If x=-3 _v=/1is the solution of the equation -2x+3v=k then the value of 'k’ is:, .

. 1 i

Ifg x=-30d y=—THERT -2x+5v=k & B &.dl k &I AT &

1. -7

2.-5

3.7

4.5

Correct Answer :-

22) Choose the digits from the options to fill the blank space of the following number so that the
number formed is not divisible by 3:

__9745/

ﬁaﬁr@a?%ﬁwwﬁuﬁ%mﬁﬁﬁﬁﬁmmmﬁmﬁmﬁaﬁﬁﬁ@mﬁ
faufsra T 81:

___9745
1.986
2.875
3.768

4.392



Correct Answer :-

. 768
23) Choose a set of like terms from 9a2b, 4ab, 4a, 5ba?, 7b2a, 9b, 3ab, 4b. /
9a2b, 4ab, 4a, 5ba2, 7b2a, 9b, 3ab, 4b & TR US| & TP YT &I g4 He|

1. 9a2b, 5ba?

2. 9a2b, 4ab, Sbaz, 7b2a, 3ab
3. 4ab, 4a, 4b

4, 9a2b, 5ba2, 7b2a,

Correct Answer :-

. 9a2b, 5ba?

24) ABCD is a parallelogram and E and F are the centroids of triangles ABD and BCD respectively. If
AC=12 cm, then EF=?/

%\BCDET:F JUHTR agye 8 3R E 3R F 0T Y ABD 3R BCD & d=w &1 afd AC = 12 I
, oY EF =2

1.2 cm /2 9#t
2.6 cm/ 6 9H!

3.4cm/4 T
4.8 cm /8w

Correct Answer :-

e 4cm /4 QAT

25) Ajay has a plot in the shape of a regular hexagon. He buys a plot that shares a side with one of

the sides of the hexagon. The new plot is in shape of a square with area ‘4a2’ m2, Find the total cost
of fencing land owned by Ajay at rate of Rs. 453/m? /

IS & U H YeY ATHR & YA &1 TP HST 81 98 TP 39 YA &1 ghel Wilear @ o a9
Yeyd & frIRI # A feft uep fFR & Ty forarT e &-a1 31 ¢ YfYy 1 ghsT TiaR 8 foraer

A6 ‘4a2’ W2 31 3O & WA aral Y & 453 I/ Hex & X A 918 A B A aFTd Jid
Exd

1. Rs. 7248a / 7248a ¥4



2. Rs. 9060a / 9060a U
3. Rs. 8607a / 8607a Tu

4. Rs. 7482 / 7482 TuAX

Correct Answer :-
e Rs. 7248a/7248a 73U

26) are logical consequences of the accepted axioms. /

_ Wipa fiidl & aifde aRoma g
1. Conjectures / 3TeJHTeT

2. Theorems / JHT

3. Postulates / JTTRYROT

4. Corollaries / SUTHA

Correct Answer :-
e Theorems / YA

27) 0,1, 1, 2,5, 8,13, 21, 34, 55... and so on is a sequence named after the mathematician

-

0,1,1,2,5,8,13, 21, 34, 55... 3R 3! X8 3T, TH 3JHH g St Mo &
19 R 2

1. Euclid / JfeFeTs
2. Thales / Ieg

3. Fibonacci / CF'IEEII?H%
4. Pythagoras / UTSUTITIH

Correct Answer :-

« Fibonacci / BISdl =

28) The price of 12 plates and 8 glasses is Rs. 528. If price of one glass is Rs. 18, then what is the
price of 6 plates? /

;@e’fﬁvsﬁaﬁmmszsvﬁ%lmwﬁmmw 18 ¥UY g, df 6 Wel &1 Yeu foraqr
?



1.Rs. 292 / 292 ¥u3
2.Rs. 192 /7 192 30
3.Rs. 200 7 200 @0
4.Rs. 384 / 384 T0d

Correct Answer :-

e Rs. 192 / 192 30

29) The area of a circle that can be inscribed in a square of side 8 cm is /

8 ¥ oo A TF T F HAAT TN U g F &ABA T

24msqem [24mddt JHAT

1.
5 16msqem /16w @1 AT
3 36 Tsqem /36w dar JHAT

4 6msqem /6w @I AT

Correct Answer :-

16msqem /16w T THT

30) The word ‘Jiva’- half-chord from Aryabhatiyam translated into Arabic also means ./
AU | Mg ‘ST — §TF 1S B 3R A srgafea A wgmadr o sy gimi
1. Tan / TOST ()

2. Secant / Hehee

3. Cos / 1T (1)

4. Sinus / ST (ATST4)

Correct Answer :-

e Sinus / ST (HATSAH)

31) The ratio between any two adjacent Fibonacci numbers (after 3) is about 1:1.6. This ratio is
called as ./



foredt off @ emaw fraiRet GBmel (3 & 916) & 19 HT 3uTd, U 1: 1.6 1 59
3T B FET A1 3

1. Golden ratio / ‘i|¢8:| QIQIEH
2. Fibonacci sequence / foraietehr 3IhHA

3. Golden triangle / ITTeSd ﬁﬂjﬁr
4. Liber Abaci / for@T 3rat

Correct Answer :-

» Golden ratio / ‘ilc’S:l §|§|€I|

32) The distance between the points (8,—2) and (3,-6) is ./

= (8, -2) TUT (3, -6) & S B gt gl

/40 units / \,’H?ﬁé
41 units / ﬁ,’ﬁm
V31 units / fﬁﬁl‘é

4 V46 units / m’ﬁm
Correct Answer :-

/41 units / \."HE?I%

33) The graphic representation of the equations 3x + 2y = 5 & 9x + 6y = 6 gives a pair of: /
THIHI 3x + 2y = 5 TG 9x + 6y = 6 & AW A=y g 34 &

1. Intersecting lines / fd<sedr Y@

2. Perpendicular lines / &@@d (@@

3. Coincident lines / FUTT Y@M

4, Parallel lines / @HATATET IW@T

Correct Answer :-

« Parallel lines / JAAEGR IW@T



34) The ordinate of all points on y-axis is:/
y-31& R Tt fagait & +ife i 2

1. Any number / 1S HEIAT

2.0

3.2

4. 1

Correct Answer :-

« Any number / Ehﬁé &

35) Perimeter of rectangle with length 76 meter and breadth 48 meter: /
76 HieX Tt 3iiR 48 Mier @Y U smad &1 ufedy 3:

1. 240 X
2. 124 A
3. 248 X
4. 126 #HIeX

Correct Answer :-

. 248 AKX

36) The number of times a particular item occurs in a given data is called its .

faw v e # v AT ug & yred g arell HEAT F FHFT gl ST R
1. cumulative frequency / SERICIEIRG|

2. variation / fHeadr

3. frequency / IRARAT

4, class size / I 3T

Correct Answer :-

e frequency / d &R

37) The following sizes of shoes were sold in a day. Calculate the mode.



58,9,5,6,4,9,3,9,3,6,1,9,7,1,2,9 and 5
frfaf@d R & St e # 99 a0 agers A A0 HK
58,9,5,6,4,9,3,9,3,6,1,9,7,1,2,91& 5

1.3

2.6

3.5

4.9

Correct Answer :-

38) A circle has two parallel chords of lengths 6 cm and 8 cm .If the chords are 1cm apart and the centre is on the
same side of the chords, and then find the length of diameter of the circle. /

UF g9 # 6 @A 3N 8 W Fa$ A aF WA Sfar &1 Ay Shar 139 g7 § R Fw SNt F wE
}, A 9 & oI Y e T H

1. 12 cm/ 12 T
2. 10 cm / 10 &3
3.5cm/5 @A
4. 6cm/6 T

Correct Answer :-

e 10cm/ 10 &0

39) Choose the number not divisible by 3. /
3@ fenfara @dt e arelt d&ar &1 a9
1. 67890

2. 453627

3. 99999

4. 75286

Correct Answer :-



40) Find the additive inverse of integer 97. /
qUiTEh 97 &1 ARMeAF Tiaad ATd F
1.79

2.97

Correct Answer :-

e 97

41) Find the cost of fencing an equilateral triangle of side 64 m at the rate of Rs. 9 per metre. /
64m§mﬁmwm§mﬁﬁ9mﬁaﬁmmaﬁmmﬁl

1.Rs. 1728 / 1728 ¥u

2. Rs. 2880 / 2880 ¥ud

3.Rs. 1862 / 1862 @0

4. Rs. 1674 / 1674 3T

Correct Answer :-

e Rs. 1728 / 1728 3ux

42) Behavioral objectives are also known as ./
HagIR® 3ggedl H & & & oft ST Fmar {1
1. Developmental objectives / fadrTcad 32T

2. Specific objectives / fafE 352

3. Mastery objectives / EX?H?ITC{UST LTAL

4. Performance objectives / UG 32T

Correct Answer :-

« Performance objectives / U&QTe 32T

43) Reliability of a test means i



T qeTT Y feauaar #r3rd &
1. Accuracy of test scores / TRIeT 3ihl P CII?%!@(‘H
2. Development of test scores / TY&TT 37ept T TPy

3. Consistency of test scores / TI&TT 3Tchl Y FaTIAT
4. Rating of test scores / TTeT 37ept b Ifam

Correct Answer :-
« Consistency of test scores / UXT&TT 37ehl T FITAAT

44) Choose the expression which shows the distributive property of whole number. /
qof §&A1 & RAeRoneA® o7 gei arell st FT A=A

1. 441x(352%x568)= (441x352)x568

2. 241(367+543)=241x367+543%x241

3. 831+511=511+831

4. 198+158+217=158+217+198

Correct Answer :-

o 241(367+543)=241x367+543x241

45) is the creator of logarithm. /
TEoE & AT §
1. Cantor / X

2. John Napier / ST AR
3. Newton / =gcel

4. Sylvester / {eraeex
Correct Answer :-

« John Napier / S AR

46) ‘Folk algorithms’ of mentally performing number operations, also for measurement, estimation,
understanding of shapes and aesthetics prevailed in the ./



A TAF w0 § Framefier siw witvar w1 w1 veanRewr, St AraeT, e, srfaa sk sfqot wasr &
e, Fyafaa gl

1. Formal Education/GﬁtﬁlTﬁH’T farem
2. Universities / Taafamera
3. Villages / 3Ta

4. Schools / Taamera

Correct Answer :-

« Villages / 3a

47) ‘Bija Ganita’ and ‘Siddhanta Siromani’ are the two important works of ./
et aftre sk Rguea Rdwr ¥ ar #Ageaqot F E

1. Bhaskara-2 / #TERI-2

2. Narayana panditha / ARTIOT Ufdd
3. Varahamihira / aUT&TATeL

4. Mahavira / #FEAR

Correct Answer :-

e Bhaskara-2 / HATERI-2

48) The classification of Audio-Visual aids was done by ./
HeT-TRT (HT3A-TAS3reN) Wt F7 Fofferaor __ g@rT R I am
1. Krathwohl / sharel

2. Edgar Dale / TSI EC

3. Bloom / sefdH

4. Anderson / T38eT

Correct Answer :-

o Edgar Dale / TSI EXCH

49) The main logical tool used in establishing the truth of an unambiguous statement is i

TISE FYT Y YoATE Y TR F1 H ygad AT aAbF araT ¢



1. Deductive reasoning /ﬁjm GEd
2. Axiomatic reasoning / TaIfAE dh
3. Logical reasoning / dTféheh ddh

4. Inductive reasoning / TITHATCHD G

Correct Answer :-

e Deductive reasoning/i'\-l‘ll-l'-lld-ldo dd%

50) If the co-ordinate of a point is (2, -3), then which quadrant it belongs to? /
afx v Rig 1 B (2,-3) 8, 75 frw aquie & w2

1. I quadrant / 1aqafer

2. 1V quadrant / TV Igfer

3. I quadrant / IITgUTm

4. 111 quadrant / III Iqufr

Correct Answer :-
« IV quadrant / IV Tqfer

51) Number of tickets sold for 5 football matches are 20378, 19872, 20417, 32473 and 23473. Which
number is closest to 20000? /

5 pearter dA9f & AT a9 77w Revet i w&ar- 20378, 19872, 20417, 32473 3X 23473 §)| Fla-dr v
20000 ¥ FrFeas §?

1. 20417
2. 19872
3. 32473

4. 20378

Correct Answer :-

o 19872

52) A car takes 2 hours to reach a destination by travelling at 60 km/hour. How long will it take while
travelling at 90 km/hour. /

Wamas‘r60mﬁmﬁﬂﬁﬁwmgmmﬁq§aﬁﬁzﬁm%lso%a"r/siaa%
afd @ AT FQ §O A e FHAT @



1. 1 hour 20 minutes / 1 ET 20 e
2. 2 hours 40 minutes / 2 €T 40 f&ae
3.2 hours /2 ©¢

4. 1hour 30 minutes / 1 €eT 30 fA=Te

Correct Answer :-

e 1 hour 20 minutes / 1 geT 20 f&Aae

53) The circumference of a playground is 44 cm. A circular track of width 4 cm lay outside around it. The

area of the circular track is: / T @el & HgT 1 IR 44 FA T 39F IRT 3T TET F 4 A A
i3 areT TF g 9 Bl AT 9T FT ST g

54) If the difference between the numbers obtained on dividing a positive number x by 5 and
by 3is 1. Then: /

Ife T YATHS H-IT x B 5 3R 3 F AU F31 W) urd J=mnsit & §i9 &1 3w 1 8, ai:

X X
3 175
1.
X X
___:1
3 5
2.
X
___:1
5 3
3.
X X
_:__1
3 5



Correct Answer :-

55) Siya attended a mathematical ability test where (+3) marks are given for every correct answer,
(—2) marks are given for every incorrect answer and (-1) mark for every unattended question. Siya
scored 80 marks though she got 34 correct answers and left 10 questions. What was the total
number of questions for the test? /

Ry 3 we nforta errar wieror & ymT R wiet va® W W & AT (+3) 8w fRE 914 §, Ud® Ted SW
¥ g (-2) o fau o & SR Ud® uy Srgaifva uy & g (-1) 31 Ryam 7 80 3w wrd farg, graife SO+ 34
gt 3w 3 oX 10 uy o= 7@ fpru B fAw| wdhen ¥ us 9t pa T feast 9z

1. 48 questions / 48 UH

2. 50 questions / 50 U4

3. 75 questions / 75 UH

4. 60 questions / 60 UH

Correct Answer :-

e 50 questions / 50 UH

56) Continuous evaluation is meant to emphasize on ./

Hadq@ied___ WEReI P Rl

1. retesting and feedback of evidence to teachers and students only / Had el AR BEAT B f%‘l'q &g
&1 T:URTerur 3R ufafsrar

2. diagnosis of learning gaps, use of corrective measures only / ol 3TTAIH TRTAl T fAgT,
FURIcHD SUTAT T SULIIT

3. all of the above / SUh T

4, regulation of assessment in total teaching-learning purpose only / Had Fl'q;Uf fRreror-aifenm | H\FQTG‘FT
CARCITREE]

Correct Answer :-

« all of the above / U T

57) An Autocratic style of teaching is also known as ./

Rreror 7 v AR (siieibfes) Akt ot & =g # Y ST Srar 21



1. Informal style / 3TaTiRes el
2. Integrative style / Thigped el
3. Student-centered style / BT-thiegd el

4. Teacher-centered style / TU8Teh-hiegd QrelT

Correct Answer :-
« Teacher-centered style / f1&Th-dhicgd QelT

58) If 3x + 3x+....100 times =150, then x=/

‘qﬁ 3x + 3x+....100 AT =150 %’ & x=

1.

1
-
3.1
4.2

Correct Answer :-

[N

59) Negative Reinforcement precedes the response and succeeds the response. /
THRIAD GAda- ufafrar § Ugd giar 8 iR wfafssar & ugrd gar g1
1. punisher / & ST (8 ¢<1 aTell)

2. prover/ﬁ@' P drell

3. prediction / q@izﬁu?r

4. investigator / 3Iedueh (ST T dTelT)

Correct Answer :-
+ punisher /€3 GIdT (S8 & dTell)

60) p:5+4 = 9(T)



q:5x(-12)<-100(f)

The truthfulness or the falsity of statements we use in daily life is called its

/ p:5+4 = 9(T)
q:5x(-12)<-100(f)

¢ e ST § AR GRS T TR I FYT H A AT A DI HgT ol gl
1. truth value / O AT

2. conjunction / HATST

3. connectiveness / AT (e TFcaa¥)

4. falsity / 38T

Correct Answer :-

e truth value / O HTA



